

Tabulation of Bids P								
Contract ID:				ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER, SALEM			/AY,	
Letting Date:	June 06, 2023		District(s):	S4				
Call Order:	Call Order: 472 Project(s): STBGP-FLEX-D00S(631)							
Contract Time:	05/31/24 COMPLETION D/	ATE	Min:	Max:				
Contract Descr	iption: RE-ADV Long-Life	PVMT Marking	Contract South,	Cycle 1 (2023)				
Line No / Item ID Item Description		(1) ZONE ST	RIPING, INC.	(2) TRAFFIC	LINES, INC.			
Alt Set / Alt Memb	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:		

OLONG	N. 0001	NOADWAT			001.	Out Ait i	
0001	151006M	1.000	24,918.77000	24,918.77	22,000.00000	22,000.00	
-	RMANCE BOND AND	DOLL					
0003	153011M	750.000	0.80000	600.00	0.80000	600.00	
TRAINE	ES	HOUR					
0006	159003M	25.000	1.00000	25.00	0.01000	0.25	
BREAKA	WAY BARRICADE	U					
0007	159006M	25.000	1.00000	25.00	0.01000	0.25	
DRUM		U					
8000	159009M	1,500.000	20.00000	30,000.00	17.50000	26,250.00	
TRAFFIC	CONE	U					
0009	159012M	800.000	1.00000	800.00	0.01000	8.00	
CONSTR	RUCTION SIGNS	SF					

6/12/2023



CLEARING SITE

LF

			Т	abulation of B	ids			Page 2 of 8	
Co	ontract ID: 23472			Counties:	ATLANTIC, BUF CUMBERLAND,	,	,	МАҮ,	
Let	ting Date: June 0	6, 2023		District(s):	S4				
С	all Order: 472			Project(s):	STBGP-FLEX-D	00S(631)			
Contr	act Time: 05/31/2	4 COMPLETION D	COMPLETION DATE Min:						
Contr	Contract Description: RE-ADV Long-Life PVMT Marking Contract South, Cycle 1 (2023)								
	o / Item ID escription		(1) ZONE ST	RIPING, INC.	(2) TRAFFIC	LINES, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:		
0010	159027M	8.000	1,000.00000	8,000.00	1,000.00000	8,000.00			
FLASHIN	G ARROW BOARD,	4' X 8' U							
0011	159030M	6.000	1,200.00000	7,200.00	1,000.00000	6,000.00			
PORTABI SIGN	LE VARIABLE MESS	AGE U							
0012	159108M	8.000	20,000.00000	160,000.00	20,000.00000	160,000.00			
	CONTROL TRUCK								
0013	159141M	800.000	1.00000	800.00	0.01000	8.00			
TRAFFIC	DIRECTOR, FLAGG	ER HOUR							
0014	MMR080M	750,000.000	0.01000	7,500.00	0.05000	37,500.00			



TRAFFIC MARKING LINES, 24"

LF

		Т	abulation of B	ids			Page 3 of 8	
Contract ID: 23472			Counties:	ATLANTIC, BUR CUMBERLAND,	,		MAY,	
Letting Date: June 06	6, 2023		District(s):	S4				
Call Order: 472			Project(s): STBGP-FLEX-D00S(631)					
Contract Time: 05/31/2	4 COMPLETION DA	TE	Min:	Max:				
Contract Description:	RE-ADV Long-Life	PVMT Marking C	Contract South,	Cycle 1 (2023)				
Line No / Item ID Item Description		(1) ZONE ST	RIPING, INC.	(2) TRAFFIC	LINES, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:		
0015 610003M	3,400,000.000	0.39000	1,326,000.00	0.45000	1,530,000.00			
TRAFFIC STRIPES, 4"	LF							
0016 610007M	130,000.000	0.78000	101,400.00	0.90000	117,000.00			
TRAFFIC STRIPES, 8"	LF							
0017 610060M	40,000.000	7.50000	300,000.00	12.00000	480,000.00			
TRAFFIC MARKINGS SYMBC	DLS SF							
0018 610013M	9,000.000	0.01000	90.00	1.00000	9,000.00			
TRAFFIC MARKING LINES, 4	" LF							
0019 610014M	75,500.000	2.00000	151,000.00	3.00000	226,500.00			
TRAFFIC MARKING LINES, 8	" LF							
0020 610017M	96.250.000	8.00000	770,000.00	12.00000	1,155,000.00			



			Т	abulation of Bi	ds			Page 4 of 8
C	ontract ID: 23472				ATLANTIC, BUR CUMBERLAND,			MAY,
Le	tting Date: June 06	6, 2023		District(s):	S4			
(Call Order: 472			Project(s):	STBGP-FLEX-D	00S(631)		
Cont	ract Time: 05/31/2	4 COMPLETION DA	TE	Min:	Max:			
Con	tract Description:	RE-ADV Long-Life	PVMT Marking C	ontract South, (Cycle 1 (2023)			
Line N	lo / Item ID		(1) ZONE STR	RIPING, INC.	(2) TRAFFIC	LINES, INC.		
	Description t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0021	610012M	350.000	25.00000	8,750.00	50.00000	17,500.00		
RPM, MO LENS	ONO-DIRECTIONAL, \	WHITE U						
0022	610018M	350.000	25.00000	8,750.00	50.00000	17,500.00		
RPM, MO AMBER	ONO-DIRECTIONAL, LENS	U						
0023	610021M	350.000	25.00000	8,750.00	50.00000	17,500.00		
RPM, BI	-DIRECTIONAL, AMBE	ER U						
0024	610024M	350.000	1.00000	350.00	5.00000	1,750.00		
REMOV	AL OF RPM	U						
0025	610027M	47,500.000	15.00000	712,500.00	17.00000	807,500.00		
REMOVA RPM LE	AL AND REPLACEME NS	NT OF U						



				Т	abulation of Bi	ds			Page 5 of 8
C	ontract ID: 2347	2			Counties:	ATLANTIC, BUF CUMBERLAND,	,	,	MAY,
Le	tting Date: June	06, 2023			District(s):	S4			
(Call Order: 472				Project(s):	STBGP-FLEX-D	00S(631)		
Cont	aract Time: 05/3	1/24 COMPLE		ATE	Min:	Max:			
Cont	tract Description	: RE-ADV L	ong-Life	PVMT Marking C	Contract South, (Cycle 1 (2023)			
	lo / Item ID			(1) ZONE ST	RIPING, INC.	(2) TRAFFIC	LINES, INC.		
	Description t / Alt Member	Quantity ar	nd Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	ROAD	WAY		Cat Al	t Set:	Cat A	It Member:	
0026	610036M	250,00	00.000	0.25000	62,500.00	0.25000	62,500.00		
REMOV	AL OF TRAFFIC ST	TRIPES	LF						
0027	610039M	12,50	00.000	1.25000	15,625.00	3.00000	37,500.00		
REMOV	AL OF TRAFFIC M	ARKINGS	SF						
0028	MMR065M	5,00	00.000	0.25000	1,250.00	1.00000	5,000.00		
PATTER	AL OF LONG LIFE NED CONTRAST ENT MARKINGS TA	٩PE	LF						
0029	MMR067M	125,00	00.000	0.50000	62,500.00	1.00000	125,000.00		
	AL OF TRAFFIC GS, LINES		LF						
0030	MMR083M		(1)	68,000.00000	68,000.00	62,000.00000	62,000.00		
MOBILE SERVICI	RETROREFLECT	OMETER	LS						



	Tabulation of BidsPag									
Contract ID:				ATLANTIC, BU CUMBERLAND	ΛΑΥ,					
Letting Date:	Letting Date: June 06, 2023 District(s): S4): S4				
Call Order:	472	Project(s):	STBGP-FLEX-I	D00S(631)						
Contract Time:	05/31/24 COMPLETION D	ATE	Min:	Max:						
Contract Descri	ption: RE-ADV Long-Life	PVMT Marking	Contract South,	Cycle 1 (2023)						
Line No / Item ID Item Description		(1) ZONE S	TRIPING, INC.	(2) TRAFFIC	C LINES, INC.					
Alt Set / Alt Membe	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount			
Section Totals:			\$3,837,333.77		\$4,931,616.50					



Tabulation of Bids Page									
Co	Contract ID: 23472 Counties:					s: ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER, SALEM			
Let	ting Date: June 0	6, 2023		District(s):	S4				
С	all Order: 472			Project(s):	STBGP-FLEX-D	00S(631)			
Conti	ract Time: 05/31/2	24 COMPLETION DA	TE	Min:	Max:				
Cont	Contract Description: RE-ADV Long-Life PVMT Marking Contract South, Cycle 1 (2023)								
Line No	o / Item ID		(1) ZONE STR	RIPING, INC.	(2) TRAFFIC	LINES, INC.			
	escription / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N: 0002	CONSTRUCTIO	ON ENGINEERIN	IG Cat Al	t Set:	Cat A	It Member:		
0004	155006M	1.000	5,000.00000	5,000.00	5,000.00000	5,000.00			
FIELD OF	FICE TYPE B SET	UP U							
0005	155024M	12.000	3,000.00000	36,000.00	3,000.00000	36,000.00			
FIELD OF MAINTEN	FICE TYPE B	МО							
Sectio	on Totals:			\$41,000.00		\$41,000.00			



Tabulation of BidsPage 8 c									
Contract ID: 23472	2		Counties:	ATLANTIC, BUR CUMBERLAND,		-	MAY,		
Letting Date: June (06, 2023		District(s):	S4					
Call Order: 472			Project(s):	STBGP-FLEX-D	00S(631)				
Contract Time: 05/31/	/24 COMPLETION D	ATE	Min:	Max:					
Contract Description: RE-ADV Long-Life PVMT Marking Contract South, Cycle 1 (2023)									
Line No / Item ID Item Description		(1) ZONE STRIPING, INC.		(2) TRAFFIC LINES, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0003	NON-PARTICI	PATING	Cat Alt Set:		Cat Alt Member:				
0002 152015P	1.000	9,000.00000	9,000.00	14,000.00000	14,000.00				
POLLUTION LIABILITY INSU	JRANCE DOLL								
Section Totals:		'	\$9,000.00		\$14,000.00				
Co	ntract Totals		\$3,887,333.77		\$4,986,616.50				
Cost	Plus Time Totals		\$3,887,333.77		\$4,986,616.50				
() indicates item is bid	as Lump Sum	I		I	I				

6/12/2023

(and the second	State of New Jersey
	STATE OF New JERSEY DEPARTMENT OF TRANSPORTATION Phil Murphy, Governor Sheila Oliver, Lieutenant Governor
	Phil Murphy, Governor Sheila Oliver, Lieutenant Governor

		Ven	dor Ranking		Page: 1
Call Order:	472	Contract ID:	23472	Counties:	ATLANTIC, BURLINGTON, CAMDEN, CAPE MAY, CUMBERLAND, GLOUCESTER, SALEM
Letting Date:	June 06, 2023 10:00 AM	District(s): S4	ŀ		
		Contract Time:	05/31/24 COMPLETION DATE		
Contract Desc	ription: RE-ADV Long-Life PVN	/IT Marking Contract S	South, Cycle 1 (2023)	Project(s):	STBGP-FLEX- D00S(631)

Rai	nk	Vendor Name	Total Bid	Percent Of Low Bid
1	1	ZONE STRIPING, INC.	\$3,887,333.77	100.00%
2	2	TRAFFIC LINES, INC.	\$4,986,616.50	128.28%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.